normalized X?

chiz
216
el 0.9852
10 055
chiz
2 Entries 216
10°F Mean 0.9852
E Std Dev 055
[ chi2
103" Entries 216
F Mean 0.9852
E Std Dev 0.55 |
1074F
-5
10

0 2 4 6 8 10 12 14 16 18 20

[ normalized x? probability |

Entries
Mean
1 - |Std Dev

Entries
i - | Mean
Std Dev.

8
=
I

Prob(x?)

0 0.10.2 0.3 0.4 0.5 0.6 0.7 0.8 0.9
XZ
A 2F
2 18
< 1.6F
\"
1.4 : :
1.2] === DQM_V0001_R000000001__Global__CMSSW_mktt50i7_RECO

m—— DQM_V0001_R000000001__Global_(

s DQM_V0001_R0O00000001__Global__CMSSW_mktt50i8_RECO
CMSSW_mkit50i9_RECO

i
T T[T [T TTr]T

o ::':::;::[::fﬁf:ﬂ‘;‘*'l"fg{i::"':'::::

Ratio

< x2/ ndf >

1.5

i

0.5]

1.0

Ratio

10? pw3

< X2/ ndf >
N
00

i
T T[T [T [T T I [T TIT T

Ratio

10°° 1072 107
AR(track, ]et?



	Contents
	Page 1


